1. E26EE S

P EOBUTHR
(1) 8 ADILARIR (4 A 5 REH)

(B FH, %)

9 RIRTE

= Al FHRIREE IR A K%E NS
1 ETfR 1,014,562 635,158 62.6
2 MAESH 76,001 22,353 204
3 FFEIXRTE 3,000 1,120 37.3
4 FBIBBIRfGE 2,300 1,667 72.5
5 RRAFZEENBIXGE 500 0
6 MAHERIXTE 140,000 80,040 57.2
7 BEREREHRX{AE 15,001 3,928 26.2
8 MARHIK{FE 1,256 1,256 100.0
o M AT 4,830,353 3,269,019 67.7
10 XBELEEXNEHFIXGE 1,300 546 42.0
11 S HEERVEAEEE 41,236 19,612 47.6
12 FRAMEUFHA 55,790 29,758 53.3
13 EEXHE 658,993 176,259 26.7
14 BExxHE 695,829 38,234 55
15 BAZEUNA 15,750 7,539 479
16 ZFHitsE 2,300 1,185 51.5
17 A% 376,808 0
18 #2HE 391,217 391,217 100.0
19 FEURA 109,073 27,012 24.8
20 HET{E 1,369,657 2,500 0.2

= it 9,800,926 4,708,403 48.0
Q) BEHOZHIKR(ZRAXRRED (B FH, %)

9RKRIRE CEEES

= Al FHIREE X HFEE THE
1 B 89,943 46,994 52.2
2 WBRHEE 1,426,743 504,120 35.3
3 R&%E 2,676,773 860,658 32.2
4 FBEE 1,069,018 443,689 415
5 EMKEEXE 436,727 112,053 25.7
6 FIE 104,770 55,120 52.6
7 tXE 940,456 367,144 39.0
8 JHME 999,051 387,188 38.8
O HEE 740,966 192,969 26.0
10 MEE 1,217,679 602,751 49.5
11 P& 10,000
12 KEEIBE 88,800 33,083 37.3

& it 9,800,926 3,605,769 36.8

XPERRERICIE. BEAFEZSATHET,




2. BASEOBMITINR

(B FH, %)

9B RIRTE = 5l IR A =& X
£ i % FHEIZEA | INAZREB | XHEEC B—C B/A X 100 C/A X100
EREERARRENISE 2,686,604 1,161,060 1,071,038 90,022 43.2 39.9
NEREE =T 2,071,849 841,835 798,635 43,200 40.6 38.5
RS EERENEE 494,055 272,207 219,784 52,423 55.1 445
TKEEERMNEE 890,574 333,809 242,328 91,481 375 27.2
FRl&H R R XSRS E 60,488 16,472 23,692 A 7,220 27.2 39.2
HEZKEEERFNEE 219,066 70,711 73,971 A 3,260 32.3 33.8
XFPERARAICIE, BHBAFEEZSATHEYS,
3. IfHi B IRKR R BT B BURE
ETfe & 1048 BT B BUR AR
£ E R ETRIURAZE (F | BHTR1A LY | —REHRE [BTR1ASY
= M) % (M) % (FM) % (M)
TR 24 & OE 1,065,882 69,276 8,583,414 557,872
T 25 & E 1,057,992 70,430 9,374,451 624,048
T R 26 & FE 1,014,562 69,629 9,800,926 672,632
GE)FERB26EESDEIEIFIARIRENDTELETT,
4. BB EDIRR (FR25F ERITE)
(1)L HEY
£ B % — iR =5 BEKEEEREET TAKEZERNSE
X y2) + ) | ®lm) | £ #Hm) |[E ) [ £ #Hm) | # ¥%im)
7 B Bt E 9,104,831 106,653 21,036 287 26,291 7,533
T & B E 8,043,748
it 17,148,579 106,653 21,036 287 26,291 7,533
Q)i (Bfsi:FH)
= i £ FEXRKS
— =3 5,731,644
ERBREARFIRE 36,516
NEREREISE 185,418
HZKESERESET 29,829
TKEEERNEE 166,545
FREHNE RS EENEE 29,561
RHESE (Bf1:FH)
£ i % X % FEXES
— XAt BEHEE 162,832
DHEME (Bf1:FH)
£ § £ X & FEXEKS
— & st FEELLHEHE 47,500
— e =E N O 55,832
— s BreEts 1,380
— iR Et EEHEELEAS 235377
—fe£Et BUELEHE 11,482
&t 351,571
5. WA BEIRES CER2BEERITHE) (B6:FH)
= §H % & %
— iR =i 11,592,447
BEZKEEERFNEE 950,591
TAKRKEEFEFAESE 3,703,639
Phl &g EEEENSE 163,938
=) it 16,410,615
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